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:zicbp `nbec ici lr jxtd e` gked .1

∀A∀B.P (A4B) = P (A) ∪ P (B) (`)
∀A∀B.P (A−B) = P (A)− P (B) (a)

:i lkl zniiwnd A0, A1, ..., Ai, Ai+1, ... zeveaw zxcq `vn (`) .2

(|Ai| = i) ∧ (Ai ⊆ Ai+1) ∧ (Ai ∈ Ai+1)

,mixai` ipy ,cg` xai` yi A∩P (A) dveaway jk A dveawl `nbec `vn (a)
.mixai` dyely

|A| = 3 ∧A ⊆ P (A)-y jk A dveawl `nbec `vn (b)

z` `vn .i = 1, 2, ..., 100 xear Ai = {−i,−i+1, ..., i− 1, i} zeveawd zepezp .3

.
100⋂

i = 0
Ai ,

100⋃
i = 0

Ai zeveawd

:xear {y | y = π1(x) ∧ x ∈ A×B} ,B ×A ,A×B zeveawd z` ayg .4

.B = {1, 2, {3}} ,A = {{1, 2}, {1}, 2} (`)
.B = ∅ ,A = {{1}, 2} (a)

:jxtd e` gked .5

3 ∈ ⋂
({{n} | n ∈ N}) (`)

1
2 ∈

⋂
({{x ∈ R | 1

n ≤ x ≤ 1− 1
n} | n ∈ {k ∈ N | k ≥ 2}}) (a)

:mixecq zebef ly zixwird dpekzd z` gked .6

< a, b >=< c, d >⇔ (a = c) ∧ (b = d)

:zicbp `nbec ici lr jxtd e` gked .7

∀A∀B.A×A = B ×B ⇔ A = B (`)
∀A∀B.A×B = B ×A ⇔ (A = ∅) ∨ (B = ∅) ∨ (A = B) (a)
∀A∀B∀C∀D.(A ∪B)× (C ∪D) = (A× C) ∪ (B ×D) (b)

∀A1, ..., ∀An∀B.
n⋃

i = 0
(Ai ×B) = (

n⋃
i = 0

Ai)×B (c)


